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General English Exam (past paper)

Section 1 Grammar

Instructions: Choose the one alternative that best completes the sentence. (1 mark each)

1. At end of next month, we will have lived in this house for exactly
one year.

(a) the; a (b) the; -- (c) --;the (d) an; a

2. lamfedup _____ this weather! Where’s the sunshine gone?

(a) in  (b) for (c)with (d) to

3. There isn't time; we have only minutes left.

(a) many; much (b) much; a few (c) a few; a little  (d) much; much

4. | felt very when | couldn’t answer the easy question.

(a) embarrassed (b) embarrass (c) embarrassing (d) to embarrass

5. David is by far student in his class.

(a) clever (b) cleverer (c) the cleverest (d) too clever

6. The teacher expects us the task before next Wednesday.

(a) to complete (b) completing (c) complete (d) to be completed

7. Thomas denied in the exam. He said he was innocent.

(a) to cheat (b) cheating (c) cheat (d) cheated

8. Once Linda as a nurse, she will work in the hospital.

(a) qualify (b) qualifies (c) qualified (d) qualifying

9. Be careful, what you ? If you press this button, the alarm will go off.

(a) were; doing  (b) had; done (c) do; do (d) are; doing

10. Thank you for your offer, but | _____ not to accept.
(a) deciding  (b) have decided (c) had decided (d) will decide

11. Last week | my keys, and now |

_____ my wallet.
(a)lose; am losing

(b)was losing; lose

(c)lost; have just lost

(

d)have lost; lose

11
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12. While | the dishes, |

(a)washed; had broken
(b)wash; am breaking
(c)am washing; broke
(d)was washing; broke

13. Inrecent years, the government has imposed pollution controls on automobile manu-

facturers. Both domestic and imported automobiles anti-pollution devices.

(a) must equip with

(b) must be equipped with

(c) must be equipping with
(

d) must been equipped with

4. in your class have tickets for the lecture series?
Do any of the student

Does any of the student

c) Do any of the students

d) Does any students

15. “Robert is going to be famous someday. He in three movies already.” “I’'m

sure he’ll be a star.”
) has appeared
) has been appearing
c) had appeared
) was appearing
16. While Jane a pail of milk from the barn to the kitchen, she spilled some of it
on her skirt.
(a) carried (b) has carried (c) was carrying (d) had carried

17. By the end of next year, | enough money to travel to Switzerland with my

friends.
a) will saving
b) will be saved

c) will have saved
d) will have been saving

18. Investigators agreed that passengers on the airliner at the very moment of

the crash.
(a) are dying (b) must be dying (c) must have died (d) ought to die



19. The first time | went swimming in deep water, | sank to the bottom like arock. ____
I’'ve learned to stay afloat, | feel better about the water, but I still can’t swim well.

(a) Assoonas (b) Nowthat (c) When (d) The first time

20. Helen was much kinder to her youngest child than she was to the others, ___
course, made the others jealous.

(a) what (b) whose (c) that (d) which

21. The store manager caught the cashier money from the cash register and

promptly called the police. They discovered that it had been going on for a long time.
(a) sneaking
(b) to have sneaked
(c) to sneak
(d) being sneaked

22. Tom made a bad mistake at work, but his boss didn’t fire him. He’s lucky __ a
second chance.

a

b

c) to have given

) having given
)

having been giving

o~ o~ o~ o~

d) to have been given

________ me she needed money, | would have been happy to give it to her.
(a) tell (b) have told (c) hadtold (d) would tell

24. My parents _____ this house last week if the man had not sold it to someone else.
(a) will buy
(b) will have bought
(c) would buy
(

d) would have bought

Section 2 Vocabulary
Instructions: Choose the one alternative that best completes the sentence. (1 mark each)

25. | like the of this song because they are about love.

(a) lyrics (b) rhythm (c) tempo (d) saxophone

26. We are unable to complete the sales . Part of the money is missing.

(a) transmission (b) protocol (c) transaction (d) server

13
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27. He is an person. He does not mind anything.

(a) annoying  (b) angry  (c) outgoing  (d) easygoing
28. He has been ___ to be the next president of our company.
(a) invested (b) promoted (c) facilitated (d) estimated

29. You can simply click onto the . It will show you how to do it.

(a) printer  (b) scanner (c¢) modem (d) icon

30. Carbon dioxide can be by trees.

(a) recycled (b) protected (c) revealed (d) discovered

31. Your parents’ constructive can be very useful.

(a) adept (b) advice (c) adjacent (d) adjoining

32. Which one of the following sports is played with a racquet and small ball?

(a) volleyball  (b) fencing (c) gymnastics (d) squash

33. the weather was so bad, he was reluctant to go outside.

(a) So  (b) With  (c) Although  (d) Since

34. Duetothe __ of supermarkets, many people choose to go there for grocer-

ies and they can buy various items at the same time.

(a) convenient  (b) convenience (c)continuous (d) convention

35. The pediatric
(a) laboratory  (b) rounding  (c) ward  (d) surgeon

is on the first floor and there are many sick children there.

36. You need to have a before buying any medicines.

(a) drug  (b) syringe (c) outpatient  (d) prescription

37. Customers are often offered a discount if they buy __
(a) arip-off  (b) arefund (c) in bulk (d) in the red

38. The bank robber three years in prison and was released last week.

(a) served (b) accused (c) acquitted (d) sentenced



39. Looking back to 2012, the Macao SAR Government has successfully maintained
(a) special administrative region
(b) legislative assembly

(c) policy address

(

d) economic growth

40. TV can now enjoy better television reception and clearer pictures than

they did in the past.

(a) viewers (b) episodes (c) receptacles (d) serials
41. With a computer,we ____ information on the Internet or send and receive
email.

(a) attach  (b) access (c) relieve  (d) chat

42. The Chicago Methodist Temple, which is 173 m in
the world.
(a) height (b) length (c) tall  (d) high

, is the tallest church in

43. Getting from Paris to Frankfurt involves an overnight train

(a) trip  (b) compartment (c) car  (d) conductor

44. The doctor told the patient not to eat food he is to.

(a) allergic  (b) aromatic  (c) elegiac  (d) energetic

45. She is the famous sculptor who did that in the cultural centre.

(a) chord (b) painting (c) rhyme  (d) statue

46. The U.S. women’s judo team had a dramatic gold win over Japan in the

Olympic Games.
(a) record (b) plate  (c) medal (d) point

47. Last month a volcano in Indonesia and two thousand people died.

(a) erupted (b) spread (c) explored (d) withered

48. Tourists haveto ____ for hotel rooms during the week of the Chinese New
Year.
(a) make a little headway
(b) pay over the odds
(c) let the cat out of the bag
(d) have a heart of gold
15
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Section 3 Reading Comprehension

Passage # 1

Instructions: Read the following passage and for each question below it choose the one best
alternative from (a), (b), (c), (d). (1 mark each)

Albert Einstein

Albert Einstein was a famous scientist who completely changed the way that people
saw our world and the universe. Einstein created many theories which proved that
things like gravity, light, energy and matter were connected with each other. At first,
very few scientists could understand Einstein’s theories but as time passed other sci-
entists showed that he was correct.

Albert Einstein was born in Ulm, Germany in 1879 and grew up in Munich. He wasn’t
a good student at school and only studied things he was interested in, like science
and mathematics.

After school Einstein went to Switzerland and tried to become a teacher there, but he
couldn’t find a job. He went to work at the Swiss patent office in Bern where he stud-
ied what other people had invented.

Later, Albert went to Berlin, Germany. He lived in Berlin for a long time and there he
developed many of his scientific theories. Einstein became so well known that he was
invited to universities around the world to talk about his discoveries. In 1921 he re-
ceived the Nobel Prize for Physics.

One of the most famous equations ever written came from Albert Einstein: E = mc 2

. This equation shows that mass can be turned to energy. Because the square of the
speed of light is such a high number, even a small amount of mass can be turned into
a lot of energy.

Questions 49-54:

Choose the one best alternative from the four options (a), (b), (c) and (d):

49. Einstein’s theories about science proved...

(a) That things like gravity, light, energy and matter were connected with each other.
(b) That things like light gravity and energy are separate from each other.

(c) That people need to change the way they think about science.

(d) That people can see the world and the universe.

50. How did most other scientists feel about Einstein’s theories?

(a) At first they didn’t understand them and later they thought Einstein was wrong.
(b) At first they didn’t understand them but later they thought Einstein was right.
(c) At first they understood them but later they thought Einstein was wrong.

(d) At first they understood them and later they thought Einstein was right.

51. Where did Einstein live when he was a boy?
(a) Ulm, Germany

(b) Munich, Germany

(c) Bern, Switzerland

(d) Berlin, Germany



52. At school Einstein was ...

(a) a good student in all subjects

(b) a poor student in all subjects

(c) not interested in working

(d) only interested in studying science and math

53. Which sentence best describes Einstein’s career?
(a) He was always successful.

(b) At first he was very successful but later on he was not successful.
(c) At first he was not successful but later on he was very successful.
(

d) He was never very successful as a teacher.

54. Which of the following is NOT true about E = mc??
(a) It is one of the most famous equations ever written.
(b) It is about energy.

(c) It is about mass.

(d) It is a small number.
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Passage # 2
Instructions: Read the following passage and for each question below it choose the one best
alternative from (a), (b), (c), (d). (1 mark each)

Angkor Wat - A Carved City

Siem Reap is a small town in the north of Cambodia. The town is charming and worth
exploring, with some fine examples of Khmer and French colonial architecture set
among the more modern developments. But Siem Reap has become a major tourist
destination because it is near the world famous temple of Angkor Wat. Nowadays, vis-
itors are flocking in, using the town as a base for visits to the nearby temples.

From the 9th to the 14th centuries, when Europe was still struggling out of the Dark
Ages, the Cambodian Empire of Angkor covered most of present-day Cambodia,
Laos, Vietnam, and Thailand. The heart of this empire during the 12th century was
the ancient capital of Angkor Thom, which is near present day Siem Reap. The site

is the largest Hindu temple complex and the largest religious monument in the world.
This spectacular city was built over a period of about 30 years under the reign of King
Suryavarman Il (1113-1150). The area covers about 400 square kilometres and is full
of the finest examples of Khmer art and architecture. Tourists are always amazed at
the size of the place.

In Angkor Wat you will find more than 100 stone monuments and temple buildings,
each of which contains countless statues, sculptures and reliefs that have weathered
extremely little over the last 800 years. To see the whole thing can take several days.
The most important temples to visit in the area are Angkor Wat, especially at sunrise
or sunset; Angkor Thom, the remains of the capital; Ta Prohm, a palace overgrown by
jungle; and the giant stone faces of Bayon.

Questions 55-60:
Choose the one best alternative from the four options (a), (b), (c) and (d):

55. The town of Siem Reap...

(a) is not very large

(b) has ONLY modern buildings.
(c) has ONLY old-style buildings.
(d) is French

56. What is the main reason why so many visitors come to Siem Reap?
(a) To see the north of Cambodia.

(b) To see some fine examples of Khmer and French colonial architecture.
(c) To visit the temples of Angkor Wat, which are close by.

(d) To flock to the base.

57. Which present day place was NOT part of the Cambodian Empire of Angkor in the 12th
century?

(a) Laos

(b) Thailand

(c) Vietnam

(

d) Europe



58. How long did it take to build the ancient city of Angkor Thom?
(a) 9 centuries

(b) 12 centuries

(c) 30 years

(d) 800 years

59. The writer says that the stone statues, sculptures and reliefs in Angkor Wat...
(a) have not been damaged much in the last 800 years

(b) are outside the buildings

(c) are counted at less than 100

(d) All of the above

60. Which place should be visited especially at sunrise or sunset?
(a) The Bayon

(b) Angkor Wat

(c) Angkor Thom

(d) Ta Prohm
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Passage # 3
Instructions: Read the following passage and for each question below it choose the one best

alternative from (a), (b), (c), (d). (1 mark each)

Slovakia Suprise!

| was traveling through Slovakia recently on my own with a Eurail pass. The Eurail
pass allows you to travel freely within most countries of Europe on a pre-paid ticket
basis. When traveling from Budapest to Prague one evening | had no idea that | would
be passing through the country of Slovakia. When the train passed the border the
Slovakian conductor asked me to show my ticket. | innocently showed him my Eurail
pass which he threw back at me screaming at me in Slovak that it was not valid and
that | had to pay forty euros for my “Slovak ticket’.

Unluckily for me | had about four other currencies in my wallet but no euros. With no
cards accepted and no valid cash | was left with no money, travelling at night, alone
with a screaming conductor telling me to get off his train in the middle of Slovakia, in
a country that | had never been to! After a screaming match in two languages, with me
trying of course to communicate in English to the Slovak conductor, and a lot of tears,
an elderly couple who spoke English heard what was going on and came to my res-
cue. They offered me the forty euros needed to keep me on the train going to Prague.

This couple had no idea who | was or why | (perhaps foolishly...) was on the train that
evening with no euros or a valid ticket.... but regardless, they helped me out without
me even looking their way for help. The gentleman said that the predicament | got my-
self into is one he imagined his own daughter would get herself into someday. | was
most grateful to that lovely couple and from then on was most certainly more careful
when travelling from country to country!

Questions 61-66:

Choose the one best alternative from the four options (a), (b), (c¢) and (d):

61. What is a Eurail Pass?

(a) It is a ticket which allows unlimited travel in Europe.

(b) It is a ticket which allows you to travel for free within Europe.

(c) It is a ticket which is only valid in Budapest and Prague.

(d) It is a ticket which can be used on much of the European rail network.

62. Which of the following statements most accurately summarises the traveller’s
financial situation in the story?

(a) She had credit cards but no money.

(b) She had lost her wallet.

(c) She only had Euros.

(

d) She had money in currencies not acceptable on the train.

63. What reason did the elderly gentleman give for helping the traveller?
(a) The couple spoke English and so wanted to help her.

(b) They were a lovely couple.

(c) They had a daughter who could face similar problems.

(d) They helped because she had requested their assistance.



64. What did the traveller learn subsequently from the episode?

(a) That she should pay greater attention when crossing borders.

(b) That she should always ask people for help.

(c) That she should never get into an argument with a train conductor.
(d) That she should carry credit cards when travelling by train.

65. Which statement best describes the reason why the traveller was travelling
through Slovakia?

(a) She had never been to Slovakia.

(b) She was travelling at night.

(c) She was in transit from Budapest to Prague.

(d) She thought that her ticket was valid in Slovakia.

66. In line eighteen, which word can replace the highlighted word ‘would’ to maintain
the original meaning?

(a) Does

(b) Might

(c) Should

(d) Did

Passage # 4
Instructions: Read the following passage and for each question below it choose the one best
alternative from (a), (b), (c), (d). (1 mark each)

Plastic

At the end of one holiday, driving through a flat rocky land of small shrubs and yellow-
ing grasses, | noticed that the landscape was full of plastic bags: in the trees, caught
in the bushes, around the rocks and being blown about in the wind.

It is not just the omnipresent plastic bag, plastic itself is now everywhere and in more
places than you might imagine. Of all the different material in the world plastic is
perhaps the one we take most for granted; you may even be wearing plastic and not
realise it. Are you wearing contact lenses? Then you are wearing plastic. Is that shirt
100% cotton, that sweater 100% wool? Are they not 10% rayon, viscose or polyester?
Have a close look at the label — you are probably wearing plastic. So what exactly is
plastic, and where does it come from?

Plastics are polymers: long chains of atoms bonded to one another. They can be
developed from chemically modified natural materials or from completely man-made
molecules. Plastic bags are usually manufactured from polyethylene resin pellets
made from ethylene gas, a by-product of oil. Polyethylene is also known as polythene.
Polythene bags were first introduced in 1977 and now account for 80% of the shop-
ping bags handed out in grocery stores in the US. Each year, an estimated 500 billion
to 1 trillion plastic bags are consumed worldwide — that is a million a minute. Most of
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it ends up as litter; only 0.5% of polythene bags are recycled in the UK and only be-
tween 1 — 3% in the US.

However, polythene used for plastic bags is just one of many plastics used. The
plastic used for adhesive tape, shower curtains and some clothing is PVC: polyvinyl
chloride. It can also be a hard plastic, and over 50% of PVC is used in construction
material because it is so cheap and easy to assemble. The disposal of PVC causes
problems because if burned it releases toxic fumes and if buried in a land-fill it re-
leases additives which can threaten groundwater supplies. PVC cannot be recycled to
the same quality and most is ‘downcycled’ to make inferior products such as garden
furniture.

In the kitchen you will find Formica on the tables, Teflon on non-stick frying pans and
perhaps acrylic paint on the walls. Bowls, bottles, containers, and cutlery — it is all
made from different kinds of plastic. But plastic can be harmful if it gets into the food
we eat.

Meanwhile the landscape is covered in plastic bags. Some countries have decided
enough is enough. In South Africa, for example, the bags are now made more durable
and therefore more expensive, and therefore reused rather than thrown away. In 2002
Ireland imposed a plastic bag tax, known as PlasTax, which in the first year reduced
consumption by 90% and resulted in approximately 1 billion fewer bags being con-
sumed annually. Other countries are at last following suit.

So plastic is the good, the bad and the ugly. It is practical and cheap - but we might
end up counting the cost later.

Questions 67-72:

Choose the one best alternative from the four options (a), (b), (c) and (d):

67. Which of the following items is not plastic?
(a) rayon (b) wool (c) Formica (d) Teflon

68. Which one of the following statements about plastic is NOT true?
(a) It can be produced from cotton.

(b) There are many different kinds of plastic.

(c) It is not expensive.

(d) It is a combination of the good and the bad.

69. Which of the following ways are discussed in the article as possible ways to re-
duce the consumption of plastic bags?

a) Making them more durable

b) Imposing tax

c) Reusing the plastic bags

(
(
(
(d) All of above



70. We are not supposed to find plastic in which of the following items:
(a) contact lenses

(b) frying pans

(c) the food we eat

(d) adhesive tapes

71. According to the article, over 50% of PVC is used in
(a) construction material

(b) garden furniture

(c) adhesive tape

(d) shower curtain

72. Which is the best way to dispose of PVC?
(a) to burn it

(b) to ‘downcycle’ it

(c) to bury it

(d) to convert it to polythene
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BE2m= (&p)

Choose the best answer for each question.
BEBEZREER -

1. If w, X, y, and z are all integers greater than 2, which of the following is the greatest?
Hw x yHEzEBERR 2 WEH > THH—EZRK?

(@x+yz+w (b)(x+y)z+w (C)x+y(z+w)
A x+y+w (e)x+y)(z+w)

2. If the first term in a geometric sequence is 7, and the third term is 63, what is the ninth term?

REMBIINERE 7 F=HE 63 FNLERZD?

(a) 367 (b) 567 (c) 2209 (d) 45927 (e) 165274

3. The average of 6 positive numbers is 5. If the average of the least and greatest of these num-
bers is 7, what is the average of the other 4 numbers?

* 6 EEHHFHIER S - EEPHNRABRK/NGNFIIER 7 BHif 4 BRENFHERZSZD?
(a) 3 (b) 4 (€)5 (d) 6 ()7

4. The population of a certain town increases by 50 percent every 50 years. If the population in
1950 was 810, in what year was the population 1607
EHHEMADSE 50 FIER 50% © & 1950F WA DR 810 M—FWADRK 1607

(a) 1650 (b) 1700 (c) 1750 (d) 1800 (e) 1850

5. A box contains 5 right-handed gloves and 6 left-handed gloves. If John randomly removes 1
glove from the box, at least how many times must he remove a glove in order to certain to get a
right-handed glove?

BTRERESERATFFENMOELTFFE - NHBANESTHEH DL —EFE » hRIOENH
ZORTEHREE —EEFFE?

(a7 (b) 8 (c)9 (d) 10 (e) 11

6. If n > 4, which of the following is equivalentto n—4/n+4 2
Fn>4. THAB—ERER n-4/atd? VA2
Jn—2
(@ n (b) 24/n ©yn+2 @ /n—2 (@ n+/n



7. If atree grew 5 feet in n years, what was the average rate, in inches per year, at which the
tree grew during those years?

EBENFRRE SR ELHBSFREZIN?

5! 5] 12n 60
@ 60n () n (€) Ton (d) 5 (e) n
8.1f m(z) = it j for all values of x # 4 and m(y) = -3, what is the value of y?

r+4
gx=4-8 m@)=y=g cEmMY) =-3 vy WERSD?

(a) 2 (b) 1 (c) -1 (d) -3 (e) -5

9. If gh > 0, which of the following must be true?
Hgh>0> THIW—EHKEMIL?

@-§<0 OF>0 ©g+th>0 @g—hr>0 (©gth<0

10.1f 2°2°=1 and,z #%x1, then a+b=
ErP=1%H z#+1 B a+b=

(@ x  (b) -1 () 0
(d) 1 (e) Itcannot be determined TEEFEE

11. If the surface area of an air bubble is increased by 44%, what is the increased percentage in
its volume?

E—FANEREEREN 44% > B HEERNES 2% ?
(@) 33.1%  (b) 44% (c)72.8%  (d) 88% (€) 91%

12. A two-digit number is the sum of two distinct perfect squares. Determine the maximum value
of this number.

—EZUHEMERERNTEELTHE N KEE_VBENEKE -

(a) 95 (b) 96 (c) 97 (d)98 (e) 99

13.A class has 10 boys and 15 girls, in which 2 boys and 5 girls play a musical instrument. If
two students are randomly selected from this class, what is the probability that both play a
musical instrument?

EMEIONBEER 1SULE  EhE2MNEEN SNUTAEBSEELE - HILSIIEH IR
B2 uEBE P ESESLBINIBMEESZD?
(a) 0.07 (b) 0.28 (c) 0.42 (d) 0.47 (e) 0.72
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14. A cylinder whose base radius is 3 is inscribed in a sphere of radius 5. What is the difference
between the volume of the sphere and the volume of the cylinder?

EE¥EE3IHNEHEANENREES S UBRE - iR EEAENEEEEZEZ D7
(a) 88.52 (b) 297.40  (c)354.13  (d) 448.77  (e) 1345.06

15. Two straight linesy = ypp+ p a@ndy — 34+ 11 = (0 are symmetric about the x-axis. What is
the value of ;p +p ?

EMER y=mr+b M z—3y+11=0 BB X8 R p4p ZEEZD?

(a) -4 (b)-5 (c) -6 (d) -7 (e) -8

16.Find the y-coordinate of the point at which the graph of y = 2sin x — cos 2x intersects the y-axis.
K y=2sinx—cos 2x NEIZEL y B ZZBh 2 y 2248 -

(a) -2 (b)-1 (€)0 (d) 1 (e) 2
17. A particle is moving along the line 5y = —6x + 30 at a rate of 2 units per second. If the particle

starts at the y-intercept and moves to the right along this line, how many seconds will it take for
the particle to reach the x-axis?

—HNFUASHW 2BNZEEBER 5y=—-6x+30 B8 - HZA T y HEMRTEAEZERE
B ZOMERAEEE

(a) 2.50 (b) 3.25 (c) 3.76 (d) 3.91 (e) 7.81

18. The length of one of the diagonals of a rhombus doubles the length of another diagonal. If k
denotes the area of this rhombus, what is the side length?

—ERzHARREAS HARREZWME - HAARARLUELLHE > AIHBRESZD?

@ /F  (B)5/Z% (0 53k /& (o) 5/5k

19. How many positive integer solutions satisfy 2x + 3y = 763 ?
FE2x+3y=763 HBEZ D EEREEME?

(a) 255 (b) 254 (c) 128 (d) 127 (e)0

20. If r and s are the roots of the equation ax”+ bx + ¢ = 0, while " and s~ are the roots of
X +px +q =0, then p must equal

BaX+bx+c=0ZWRRrRs Mx +px+q=02ZRRr R s - Bl p BER

(@) b’ = ;1(10 (b) b' = ;‘Zac (c) 2ac—b’
a a a

(d) b*—2c (e) 2c— b
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